

$$U(x, y, z, t) U^\dagger(x', y', z', t') - U^\dagger(x', y', z', t')$$

$$= \left(\frac{1}{2\pi}\right)^3 \frac{i\hbar}{2} \iiint \left[\frac{1}{k_0} e^{-i c k_0 (t-t') + i k (r-r')} + e^{i c k_0 (t-t') - i k (r-r')} \right] dk_x dk_y dk_z$$

$$\iiint e^{i k r} dk_x dk_y dk_z (\dots)$$

$$= 2\pi \int_0^\infty k dk \frac{e^{-i k r} - e^{i k r}}{i r} (\dots)$$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{\hbar}{2 r} \int_0^\infty \frac{k dk}{\sqrt{k^2 + k_0^2}} \left\{ e^{-i(c k_0 T - k R)} - e^{-i(c k_0 T + k R)} + e^{i(c k_0 T + k R)} - e^{i(c k_0 T - k R)} \right\}$$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{\hbar}{2 r} \int_0^\infty \frac{k dk}{\sqrt{k^2 + k_0^2}} \left\{ e^{-i(c k_0 T - k R)} + e^{i(c k_0 T + k R)} \right\}$$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{\hbar}{2 r} \int_0^\infty \lambda \sinh \varphi \cdot \left\{ e^{-i \lambda S \cosh(\varphi - \chi)} + e^{i \lambda S \cosh(\varphi + \chi)} \right\} d\varphi$$

$\varphi - \chi \rightarrow \varphi$ $\varphi + \chi \rightarrow -\varphi$

©2022 YHAL, YITP, Kyoto University
 京都大学基礎物理学研究所 湯川記念館史料室

$$H_0^{(1)}(x) = -\left(\frac{2i}{\pi}\right) \int_0^\infty \cosh \varphi e^{xi \cosh \varphi} d\varphi$$

$$H_0^{(1)}(x) = -\left(\frac{2}{\pi}\right) \int_0^\infty \cosh \varphi e^{xi \cosh \varphi} d\varphi$$

$|C| > R$

$$\left. \begin{aligned} k &= \lambda \sinh \varphi \\ k_0 &= \lambda \cosh \varphi \end{aligned} \right\}$$

$$\left. \begin{aligned} R &= S \sinh X \\ CT &= S \cosh X \end{aligned} \right\}$$

$$S^2 = C^2 T^2 - R^2$$

$$ik_0 T - k_0 R = \lambda S \cosh(\varphi - X)$$

$$ik_0 T + k R = \lambda S \cosh(\varphi + X)$$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{k\lambda}{2R} \int_{-\infty}^{\infty} \left\{ \sinh(\varphi + X) + \sinh(X - \varphi) \right\} e^{-i\lambda S} \cosh \varphi d\varphi$$

$2 \sinh X \cosh \varphi$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{k\lambda}{R} \sinh X \left(\frac{\pi}{2}\right) \left\{ H_1^{(1)}(\lambda S) + H_1^{(2)}(\lambda S) \right\}$$

$$= \frac{-k\lambda \sinh X}{8\pi R} \int_1^{\infty} (-\lambda S) = \frac{k\lambda}{8\pi R} J_1(\lambda S) \sinh X$$

$$= \frac{k\lambda}{8\pi S} J_1(\lambda S)$$

$$|CT| < R,$$

$$k = \lambda \sinh \varphi$$

$$k_0 = \lambda \cosh \varphi$$

$$R = S \cosh X \quad \text{and} \quad S^2 = R^2 - CT^2$$

$$CT = S \sinh X$$

$$ck_0 T - kR = -\lambda S \sinh \varphi (\cosh X - \sinh X)$$

$$ck_0 T + kR = \lambda S \sinh \varphi (\cosh X + \sinh X)$$

$$= \left(\frac{1}{2\pi}\right) \frac{\lambda}{2R} \int_{-\infty}^{+\infty} \left\{ \sinh \varphi \right\} e^{-i\lambda S \sinh(X-\varphi)} + e^{i\lambda S \sinh(X+\varphi)} \Big\} d\varphi$$

$$= \left(\frac{1}{2\pi}\right) \frac{\lambda}{2R} \int_{-\infty}^{+\infty} \left\{ \sinh \varphi \right\} \left[-e^{-i\lambda S \sinh(X+\varphi)} + e^{i\lambda S \sinh(X+\varphi)} \right] d\varphi$$

$$= \left(\frac{1}{2\pi}\right) \frac{\lambda}{2R} \int_{-\infty}^{+\infty} \left\{ \sinh(\varphi+X) + \sinh(\varphi-X) \right\} e^{i\lambda S \sinh \varphi} d\varphi$$

$$= 2 \sinh \varphi \cosh X$$

$$\sinh(X-\varphi) \cosh X \sinh \varphi$$

©2022 YHAL, YITP, Kyoto University
京都大学基礎物理学研究所 湯川記念館史料室

$$\lim_{x \rightarrow 0} \frac{\sin Nx}{Nx} = N$$

$$\lim_{x \rightarrow 0} \frac{\sin Nx}{Nx} = N$$

©2022 YHAL, YITP, Kyoto University
 京都大学基礎物理学研究所 湯川記念館史料室

$$\left(\frac{1}{2\pi}\right)^2 \frac{\pi}{2R} \int_{-\infty}^{\infty} \frac{k dk}{k_0} (ck_0T + kR)$$

$$+ e^{i(ck_0T + kR)} - e^{i(ck_0T - kR)}$$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{\pi}{2R} \int_{-\infty}^{\infty} \frac{k dk}{k_0} \left\{ e^{-i(ck_0T - kR)} - e^{i(ck_0T - kR)} \right\}$$

$$= -\left(\frac{1}{2\pi}\right)^2 \frac{i\pi}{R} \int_{-\infty}^{\infty} \frac{k dk}{k_0} \sin(ck_0T - kR)$$

$|T| > R$

$$= -\left(\frac{1}{2\pi}\right)^2 \frac{i\pi\lambda}{R} \int_{-\infty}^{\infty} \cosh\varphi \cdot \sin(\lambda s \cosh\varphi) d\varphi$$

$$= -\left(\frac{1}{2\pi}\right)^2 \frac{i\pi\lambda}{R} \int_{-\infty}^{\infty} (\cosh\varphi \cdot \cosh\chi + \sinh\varphi \cdot \sinh\chi) \cdot \sin(\lambda s \cosh\varphi) d\varphi$$

$$= \left(\frac{1}{2\pi}\right)^2 \frac{i\pi\lambda}{R} \cosh\chi \cdot 2 \cdot \frac{\pi}{2} \cdot \frac{\partial}{\partial(\lambda s)} Y_0(\lambda s)$$

$$= \frac{1}{4\pi} \frac{i\pi\lambda}{R} \cosh\chi \cdot Y_1(\lambda s)$$

$$\frac{cT}{R} \rightarrow \pm 1, \quad s \rightarrow 0, \quad Y_1(\lambda s) \rightarrow \frac{-2}{\pi \cdot \lambda s}$$

$$\cosh\chi = \frac{cT}{s}$$

$$\rightarrow \pm \frac{i}{4\pi^2 s^2}$$

CITIKR

©2022 YHAL, YITP, Kyoto University
京都大学基礎物理学研究所 湯川記念館史料室

$$= + \left(\frac{1}{2\pi} \right)^2 \frac{i\hbar\lambda}{R} \int_{-\infty}^{\infty} \sinh\varphi \sin(\lambda s \sinh(\varphi - \chi)) d\varphi$$

$$= \left(\frac{1}{2\pi} \right)^2 \frac{i\hbar\lambda}{R} \int_{-\infty}^{\infty} (\sinh\varphi \cosh\chi + \cosh\varphi \sinh\chi) \times \sin(\lambda s \sinh\varphi) d\varphi$$

$$\sinh\varphi = -i \sin i\varphi$$